N = 0l & AHSE B Al M

At
C2 SN2 NELER/ER)
DANE Y S0EER ALY (B &)
2N - F2 - H2A(ZH) - HI2AY - HES 04| AboH J| &M Hnsz2t
56,816, 151 56,900,367 184,216
= 180,000 180,000 0
= 500,000 0 500,000
[= 1,622,250 1,622,250 0
= 1,630,000 1,450,000 180,000
Al 52,883,901 53,648,117 AT64,216
SN2 NSELER/E2) 23,776,294 24,388,832 612,538
= 150,000 150,000 0
< 320,500 320,500 0
Al 23,305,794 23,918,332 N612,538
ANE L SHEZZ AKY 23,356, 129 23,942,319 586,190
= 150,000 150,000 0
[= 320,500 320,500 0
Al 22,885,629 23,471,819 A586,190
CE2HH 7,011,000 7,311,000 300,000
401 AlEHIL S0 7,011,000 7,311,000 300,000
01 Al&dH] 6,996,330 7,296,330 300,000
OIIEE1 W~ 72t SESARX] EX(E=2H A2)
2F 0 0 300,000 300,000
c2 |BS 11,419,129 11,705,319 286,190
401 AlEHIZ S0 10,166,810 10,453,000 286,190
01 Al&H] 9,860,800 10, 146,990 A286,190
OS8XGHAHE L SHEHISETR S22
(229 A2 AF 0= 0 8,000 8,000
OYZ=NHZI|QIANAT = T2 MY|(EEH
FHOH AF21) A3 1,847,970,0002 1,847,970 1,893, 160 A45,190
OS2 X2 NHED 2XISE Bgs 29
(229H A2 3 0 0 10,000 210,000
OYZHIHZI|QIAMAT =6 T2 =FY|
(RISHTHOH ALY A 373,220,000 373,220 596,220 A223,000
He= 2l 346,952 373,300 N\26,348
Hg=ae 346,952 373,300 N\26,348
307 2I12+0| & 293,652 320,000 N\26,348
05 DIZtRELZ 293,652 320,000 N\26,348
OHZE2(0[4AH) ZHI2S 22| EH(RIGHAIH A2}
A 293,652,000 293,652 320,000 N26,348
SENL(SHLSA/ =Y - 5F) 24,115,749 23,589,700 526,049
= 30,000 30,000 0
= 500,000 0 500,000
[= 489,250 489,250 0
= 1,630,000 1,450,000 180,000
Al 21,466,499 21,620,450 A 153,951
=PIl 20,645,749 20,119,700 526,049
= 30,000 30,000 0
= 500,000 0 500,000




2Md: A4
M SENL(SHLS/ 5 - 58)
[ B ==tea WALl CERE)
A - M SA(SH) - MEAIY - BES 04| AroH J| &M Hns2
< 489,250 489,250 0
= 1,630,000 1,450,000 180,000
Al 17,996,499 18, 150,450 A 153,951
22|AlIE JHES 3,274,200 3,459,200 A 185,000
201 LEH2 Y] 186,200 171,200 15,000
02 2229H| 186,200 171,200 15,000
OZClH #=eIANEE RAZ2IHI(FIILI)
ZA 173,000,000 173,000 158,000 15,000
401 AlSHIL 2 0HYI 2,488,000 2,688,000 2A200,000
01 Al&H] 2,477,164 2,677,164 200,000
OxCIANE 21SBE4H|(E2H AFZ) 338 0 0 100,000 A 100,000
LRI AL BN (22N A1)
33 0¢ 0 100,000 100,000
SEFDI=2AAS 9,541,000 9,441,000 100,000
= 1,500,000 1,450,000 50,000
Al 8,041,000 7,991,000 50,000
401 AlEHIL S 0HYI 9,541,000 9,441,000 100,000
= 1,500,000 1,450,000 50,000
Al 8,041,000 7,991,000 50,000
01 Al&H] 9,513,826 9,413,826 100,000
OHED GiS12] OLARIMN LRI BAHSEEH
neE3) 100,000 = 1,000m 100,000 0 100,000
S 50,000 0 50,000
Al 50,000 0 50,000
SHEC2AHY 6,391,049 5,780,000 611,049
£ 500,000 0 500,000
= 130,000 0 130,000
Al 5,761,049 5,780,000 118,951
401 AlSHILS20HY] 6,391,049 5,780,000 611,049
£ 500,000 0 500,000
= 130,000 0 130,000
Al 5,761,049 5,780,000 A18,951
01 Al&H] 6,391,049 5,780,000 611,049
Ox=&H =ENMSA FH(HZI102854H) SL2A
X AXI(ESHEH AR} 26,049 130,000 A103,951
22X 26,048,470
OBIEM&=X~EHZH (MBI ER HETHBA( SN
AR24H) 45,000 245,000
—&IAIEH 2H 0 45,000 245,000
OECRSEN 22 T2 TEMZAHEENEA)
500,000,000 * 14l 500,000 0 500,000
= 500,000 0 500,000
O28d stae| sE30384 OtARGMN )|
ZAHEEZFHDLE2) 100,000 = 1,600m 160,000 0 160,000
= 80,000 0 80,000
Al 80,000 0 80,000
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BE: SENL(SYHYLN/ S - 5E)
oelr sgoIBtEy (&9 8 )
SN - B - S9(31) - MRAYS - BeS il ko pJE-L! HImz2
O=8d HEL 220158 OtAZIM D]
SAHEEZFNLE2) 200,000& * 500m 100,000 0 100,000
EN 50,000 0 50,000
Al 50,000 0 50,000
Heas(2dl) (sgiildsd/sd - s&) 2,273 0 2,273
SFSPNES 2,273 0 2,273
SEXE 2,273 0 2,273
802 Bret3DIEt 2,273 0 2,273
02 Al - THIEXZBHEE 2,273 0 2,273
O20219 = 2,273 0 2,273
—&)|ES2ESUST| A
2,256,000& * 14! 2,256 0 2,256
—AD|IESAFSUEI| AFZ(0IXH)
17,0003 * 14! 17 0 17




